pure gaussians

| out_calib_part_sdd1 |

11000f

10000

O
(=3
(=3
(=}

S
S
=]

Coynts/12.0 [gV]
(] o
2 8

5000

4000

x?/ ndf 251.077 /170
Prob 5.226042e-05
KailMean 4508.83 = 0.29
BGa 1914.781+= 31.184
BGb 0.2157673 = 0.0069111
Ka1Kb_ratio 1.686169 = 0.031850
Fano 0.6070285 = 0.1373499
Sigma 65.07892 + 0.28584
Ka1Height 5419.281= 25.958

3000 , .......... =
E 1 1 1 | 1 1 1 i/l/l\l \l 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1
4000 4200 4400 4600 4800 5000 5200 5400
Energy [eV]
T T T I T T T T T T T T T T T T T T T T T T
300
200
z
=100
x
®
> 0
(]
=}
T
]
©-100
-200{— ]
O Eepeveopeecpeesd e peeepeseagesefiecpeengoesegocseeeerseiueagrecebesegoesspeesgeeedeeprespeesoesspereaeeeeprcep]
4000 4200 4400 4600 4800 5000 5200 5400
Energy [eV]

with pile-up

| out_calib_part_sdd1 | 2/ ndf 176.8008 / 167
Prob 0.2869061
UL L L T Tl kaimean 4506.241+ 0.655
11000 : BGa 1962.412 = 31.621
BGb 0.2019165 = 0.0070772
10000 Ka1Kb_ratio 1.663345 = 0.032596
Fano 0.1893266 = 0.1215535
9000 Sigma 63.71104 = 0.32240
= Ka1Height 5284.349 = 30.764
2000 PileHeight 355.8967 = 41.6209
<2 Beta 195.9825 = 195.2764
% 000 PileSigma 39.73378 = 16.80858
3000 :
o
(&)
5000 ...........................................................................................................................................
4000 AU SUSTPRPRPRPURRPIDY S-SR SUURPRE ST PR SO <O S PP PPN
3000 :
E 1 1 1 1 I 1 1 1
4000 4200 4400 4600 4800 5000 5200 5400
Energy [eV]
T T T I T T T T T T T T T T T T I T T T T T T
200 ]
x N
100
x
©
>
g 0
3 )
2 B
9 -]
-100 ]
O
4000 4200 4400 4600 4800 5000 5200 5400

Energy [eV]




pure gaussians with pile-up
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pure gaussians
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with pile-up
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pure gaussians
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pure gaussians
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pure gaussians

with pile-up
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pure gaussians
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pure gaussians

with pile-up
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